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Ex.1 
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(1) 3x – 2y = 5 3x – 2y – 5 = 0 3, –2, –5 
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(1)  2 1  160 
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x  y Ist  : 

 2x + y = 160          ......(i) 



IInd  : 4x + 2y = 300  …..(ii) 
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 3900
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Sol.   x 
 y
 3x + 6y = 3900  …..(i) 
 x + 3y = 1300 …..(ii) 
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Sol.  x  y 
 x + y = 10 ……(i) 

 y = x + 4 ……(ii) 
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Sol.  x y 
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  x + y = 36 …..(i) 
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 x = 4 + y ..…(ii) 
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Sol.  x y x > y 
x – y = 26   ……(i) 

x = 3y ……(ii) 
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Sol.  x  y x  y  
x + y = 180°   ……(i) 
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x
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
11x + 22 = 9y + 18 
11x – 9y = – 4 …..(i) 

6
5

3y
3x 

  6x + 18 = 5y + 15 
 6x – 5y = –3 ….(ii) 
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 y 

= (x + 5) 
= (y + 5) 

 (x + 5) = 3(y + 5) x + 5 = 3y + 15 
x – 3y = 10  ……(i) 
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x – 5 = 7y – 35   
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y (  x) 
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Ex.3 

(i) 2x + 3y = 6    (ii) 3x – 2y = 12 
(iii) 7x + y = 15         
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(iii) y = 15 – 7x 
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 1361815y
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Ex.4 
(i) 3x – 7y = 21   (ii) 8x – 5y = 16 

Sol.  (i) 3x – 7y = 21 
x = 0  3(0) – 7y = 21 

37
21y   

x = 0, y = –3 
 y = 0  3x – 7(0) = 21 

3x = 21  
x = 73

21 
x = 7, y = 0 

 03y
70x


(ii) 8x – 5y = 16 

x = 0  8(0) – 5y = 16 
–5y = 16 y = 2.35

16 
x = 0, y = –3.2 

 y = 0  8x – 5(0) = 16 
8x = 16 x = 28

16 
x = 2 ; y = 0 
 02.3y

20x


Ex.5 
(i) 3x = 5  (ii) 7y = 10 

Sol. (i) 
3x + 0.y = 5 

y = 0, 1, 2, 3, 4   x = 

210y
3/53/53/53/53/5x

(ii) 7y = 10  0.x + 7y = 10 
x = 0, 1, 2, 3, 4 
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7

 = 
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
3
7,5 ,  (x ) 

 (y ) 
Ex.6 x  y 

9x – 8y = 72 
(i) (0, 9)  (ii) (0, – 9) (iii) (– 8, 0) 



 Edubull

(iv) (+8, 0) (v) (1, 1)  (vi) 



2
1,3

1

Sol.  9x – 8y = 72 
(i) x = 0, y = 9  LHS  
 = 9(0) – 8(9) = –72 RHS  
(ii) x = 0, y = –9 LHS 

= 9(0) – 8(–9) 
 = +72 = RHS       
(iii) LHS = 9(–8) – 8(0)    (x = –8, y = 0 ) 

= –72 RHS 
(iv) LHS = 9(–8) – 8(0)     (x = 8, y = 0 ) 
 = 72 = RHS     
(v) LHS = 9(1) – 8(1) (x = 1, y = 1 ) 

= 9 – 8 
= 1 RHS  

(vi) LHS = 9 



3
1  – 8 




2
1  


  2

1y,3
1x

= 3 – 4 
= –1 RHS  

Ex.7 k 2x + ky = 6 
(–2, 2) 

Sol.   (–2, 2), 2x + ky = 5 
2(–2) + k(2) = 6  
– 4 + 2k = 6 2k = 6 + 4
k = 52

10 
Ex.8 p (4, –4), x – py = 8 

Sol.  x – py = 8 
4 – p (–4) = 8 
4p = 8 – 4 
4p = 4 
p = 1   

Ex.9 a (a, –3a), 14x + 3y = 35 

Sol.  x = a  y = –3a 
14(a) + 3(–3a) = 35 
14a – 9a = 35 

5a = 35 
a = 7 

 ax + by + c = 0 
a  0, b  0




(i) I : 
 ax + by + c = 0. 

(ii)  II : 
y  x 
y = – 


 

b
cax

(iii)  III : 
x  y II 
(1, 1)  (2, 2)  x 

 y 
(iv)  IV : 

(1, 1)  (2, 2) 

(v)  V : 
 IV 

ax + by + c = 0 


 

Ex.10 y – x = 2 
Sol.  

y – x = 2  y = x + 2 
x = 1  : y = 1 + 2 = 3 
x = 3 : y = 3 + 2 = 5 

x 1 3
y 3 5

(1, 3)  (3, 5) 
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–1
–2
–3
–4
–5
–6
–7
–8
–9

 1    2   3  4    5   6    7 –7 –6  –5 –4 –3  –2  –1 XX 

Y

Y 

y – x = 2

Ex.11 x – 2y = 3 

(i) x = – 5 (ii) y = 0. 
Sol.  x – 2y = 3  y = 2

3x

x = 1  : y = 2
31  = –1 

x = –1  : y = 2
31  = –2 

: 

x 1 –1
y –1 –2

(1, –1)  (–1, –2) 
x – 2y = 3 

9
8
7
6
5
4
3
2
1

–1
–2
–3
–4
–5
–6
–7
–8
–9

 1    2   3   4    5   6    7 –7 –6  –5 –4  –3 –2  –1 X

Y 

Y 

x – 2y = 3
(3, 0)

(1, –1)
X 

(–1, –2)

x = –5 
 y- (–5, 0) 

x – 2y = 3 
x- y-
y = –4 

(–5, –4) 
y = 0, x-

 x-
(3, 0) 
(–5, –4) (3, 0) 

Ex.12 
(i) x – 7y = – 42   (ii) x – 3y = 6 

  (iii) x – y + 1 = 0  (iv) 3x + 2y = 12 
Sol.  (i) x – 7y = – 42  

CBA
8767

42xy
1470x



0   3    6    9   12  15  x

15
 12
 9

6
3
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A B C
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(ii) x – 3y = 6 

FED
4203

6xy
18126x
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0   3    6    9   12  15  18 x
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 12
 9

6
3
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(iii) x – y + 1 = 0 
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511xy
40x
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0   1    2    3    4    5    6 x

5
4
3
2
1
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A

B

(iv) 3x + 2y = 12 

DC
362

x312y
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0   1    2    3    4    5    6 x

6 

5
4
3
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A

C
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(i) 

(ii) (a, b) 

(7,–4)
(4, 1) xx' 

y' 

y 

(2, 9) (1,10) 

O

 (2, 9)  (4, 1) 


 (1, 10)  (7, –4) 

Ex.13 


 6,2
9 , 4x + ky = 12

k 
Sol.   2

9x   y = 6


12)6(k2
94 



18 + 6k = 12 

 6k = 12 – 18 
 6k = –6 

 k = –1 
 : 



(1)  x- y = 0  x-
(± a, 0) 

(2)  y- x = 0  y-
(0, ± b) 

(0,b) 

(a,0) x

y' 

y 

x' O
b a

y' 

y 

x' O x(–3,0)
(0,–1)
(0,–2)

(3) x = ±a y 
(4) y = ±b x 

x = a
y 

x' x–a O 1 2 3 a

y' 

1 
2 a

x = –a

x = –a  x = +a 

y = 1, y = b, y = –b 

b
1

x' x

y = –b–b

y' 

y y = b 
y = 1 

1
O

 : (Concurrent lines)

a, b, c, d, e  O 


a b c
d
eO

 : 

Ex.14 
(3, –5) 

Sol.  x + y = –2, x – y = 8, 2x + y = 1, 2x – y = 11, 
2x + 3y + 9 = 0 

X- Y-


(A) 
(B) 

x  y 

  
Ex.15 x = 5 

(i) (ii) 
  (iii) x = 5  x = 0 

Sol.  (i) x = 5  

–2 –1 0 1 2 3 4 5 x' x
x = 5

 (ii) 

x + 0.y = 5  …..(i) 



(i) 

210y
555x

 :  10 
= 1 

1 2 3 4 5 6 xx' 

y 

y' 
x = 5

1
2
3
4

O

(iii) x = 5  x = 0 y 
y 

Ex.16 5x + 7 = 0 
  (i) 
  (ii) 
Sol.   (i) 5x + 7 = 0 5x = –7 x = – 5

7  = – 1.4 

–3 –2 –1 0 1 2 3 4 x' x 
4.15

7x 

 (ii) 5x + 0.y = –7 

3210y
5/75/75/75/7x 

 : 10 1 
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y' 

1     2     3O –1
 –2
 –3

4
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 1

–1–2

4.15
7 

5x + 7 = 0

 :  ‘c’ ax + by + c = 0 

y' 

y 

xx' O

x = –y 

x = y 




